
Q1

BC846B

Q2

BC846B

R2

10

R3

10

Q3

BC856B

Q4

BC856B

Q5

BC856B

Q6

BC856B

Q7

BC856B

Q8

BC846B

Q9

BC846B

Q10

BC846B

R5

220

R6

216

R7

220

R8

220

R9

2k

R10

2k
R11

100

V1

25

V2

25

U1

ecf10n20

R12

.1

R13

.1

U2

ecf10p20
AC 0 0
Rser=0 Cpar=0

V3

PULSE(-0.19 .19 0 1n 1n 10u 20u 4)

C1

1µ

C2

1f

R14

8

R15

10

R16

10

R1

22

R4

22

Q11

BC846B
Q12

BC846B

R17

330

R18

22k

Q13

BC856B
Q14

BC856B

R19

330

Ii

AC {u(prb)}

Vi

AC {u(-prb)}

x

in+

i

x
i

.ac dec 100 1 1000e6

.step param prb list -1 1 ; set prb=0 to turn off probe

Here the open loop gain is determined from the closed loop system[1].
The open loop gain can be plotted by plotting the quantity:
 
-1/(1-1/(2*(I(Vi)@1*V(x)@2-V(x)@1*I(Vi)@2)+V(x)@1+I(Vi)@2))
 
Alternatively, you add the following line to your plot.defs file:
.func T.et.al() -1/(1-1/(2*(I(Vi)@1*V(x)@2-V(x)@1*I(Vi)@2)+V(x)@1+I(Vi)@2))
And then plot simply T.et.al()
 
This is an improvement over the technique shown in LoopGain.asc 
because it (i) accounts for reverse feedback(it doesn't even
matter if you reverse the direction of the probe -- you still compute
the same open loop response) and (ii) the inserted probe elements
result in a smaller, sparser circuit matrix.
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